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Question 20
20 Solve Ix—-8=19
[2 marks]
Student A
Solve 3x-8=19
[2 marks]
3x-8=-11
38
e 5 b ety i i
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2z
R
Commentary

The method is correct but the answer is not processed so the A mark is not awarded. This is a
general principle to follow when marking.
1 mark
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Student B

Solve 3x-8=19
[2 marks]

3x <%= ¢ 5
5 T

A% = 96 7462356

=
-
o
=

6/6 A0

X =

8- 666

3%%523

Commentary
The intention to add 8 is clearly shown even though 19 + 8 has been worked out incorrectly. Had

the only working seen been 3x = 26 this would not have been sufficient to award the method mark.
1 mark
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Question 19

19 a=7 and b=2
Work out the value of % —ab
[3 marks]
Student A
19 a=T7T and b=2
Work out the value of :’ —g?
]
[3 marks]
7
1 i q{:
@
=)~
AC g L7 At
% _______ 1o A1 z49
lo —lked = -3%
M 1
Mdep 0
Answer - 36
Commentary

3.5 is seen and the first M mark is awarded. Subsequently the student uses 10 instead of 3.5 so
the second M mark is not awarded.
1 mark
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Student B
19 a=7 and h=2

Work out the value of . - a’
h

. s e BB
- __ L
P - i 2 .

[3 marks]
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Answer LI"S S A0

Commentary
The first 2 method marks are awarded but the final answer is incorrect.
2 marks
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Student C
19 a=T7 and b=2

Work out the value of : -a

[3 marks]

Mdep O

| L
Answer (S C'j o ?

Commentary

There is no incorrect working here but 72 has not been evaluated so only the first mark is awarded.
This is also made clear in the final line of Additional Guidance which is an important part of a mark
scheme.

1 mark
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Question 18

No examples available

Commentary
Note how the second mark follows through (ft) from the first.
The first line of Additional Guidance provides the tolerance for the graph.
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Question 19

19 The value of rcanbe 2or 5

The value of y can be 3 or 12

19 (a) List the possible values of xy

[2 marks]
Answer
19 (b) Work out the least possible value of —Y
X
You must show your working.
[2 marks]

Answer
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Student A
18 Thevalse of rcanba 2or 5
The value of y can be 3or 12

18(a)  Lisl the possible values of  xy

[2 marks]
AxX3 -6 S
2x 2= 24 B
%3~ 15
Hx 1260 MMEG
19(b)  Work out the least possible value of -
X
You must show your working.
[2 marks]

-1 - -
S-12+9 = a ¢

Commentary

(a) Values can be in any order

2 marks

(b) Student has only divided the y value by 2 each time
0 marks
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Question 15

15 Alline has the equation  y=x+3

15 (a) Write down the coordinates of the point where the line intersects the y-axis.

Answer ( . )
15 (b) Write down the coordinates of the point where the line intersects the x-axis.
Answer ( . )

Student A
15 (8)  Write down the coordinates of the point where the line intersects the y-axds.

Answer ("3 ' @ )

15 (b)  Write down the coordinates of the point where the line intersects the x-axis.

e
Answer (. O > 3 ) e /

Commentary

[1 mark]

[1 mark]

Yo'
[1:>markl

[1 mark]

Although both answers are incorrect the mark scheme in (b) has a special case (SC) and awards

this pair of answers SC1
1 mark
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Student B

15 {a)  Write down the-coordinates of the point where the line intersects the y-axis. [?*ﬁ" 2
mar

E-

Answer ( ;

15 {b) Write-down the-coordinates of the point where the line intersects the x-axis. o
ma

(D, -3,

Answer

Commentary
Although both answers are incorrect the mark scheme in (b) has a special case (SC) and awards
this pair of answers SC1

Question 10

No examples available

Commentary
Note that a student may write their answer on the dotty line of the given sequence. If the correct
number is seen here and it is not contradicted later, the 2 marks can be awarded.
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Question 23

23 Match each sequence to its description.
One has been done for you.

112358

12 4 8 16 32

12 3 4 5 6

1 36 10 15 21

1 4 9 16 25 36

1 8 27 64 125 216

Arithmetic progression

Geometric progression

Fibonacci sequence

Triangular numbers

Cube numbers

Square numbers

[4 marks]
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Student A
23 Maich each sequence o its description.
Cne has bean done for you.
[4 marks]

B 2

112858 Arithmetic progression

1 2 4 8 16 32 (Geometric progression

h Fibonacc! sequence

122458

10 15 21 ‘_-_,_————-' Trianguler numbers

13 8

14 9 16 25 36 - Cube numbers

1 8 27 64 125 216 . "~ Square numbars

Commentary
Note that the mark scheme does not award a mark for each correct match. Also note that one

match was given in the question and this is not counted as a correct match in student responses.

With 3 correct matches B2 is awarded.
2 marks
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Question 17

17 In a bag there are 10p coins, 20p coins and 50p coins.

There are two fewer 20p coins than 10p coins.
There are five more 50p coins than 10p coins.

17 (@) Complete the table.

Coin Huml_]er of
coins
10p n
20p n-2
50p

17 (b}  Altogether, there are 60 coins.
Work out the total value of the 20p coins.

[1 mark]

[4 marks]

Answer £
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Student A

17 (@) Complata the table. i onarid
Coln Hu:;ih:ni
10p "
20p n=-2
50p én ,
17 (b)  Alogether, there are 60 coins.
Work out the total value of the 20p calns,
Wﬂﬂf{j oul> . [4 marks]
60-2-58 |
5g-2% =35 |
3532242 = 6o
6025 25
25-23 =172
__,..'1'! Iill.m__-_- 6o AT M --'u.r,.“'

L —isthe 2op coinc
o “HIH{ iz J? “lﬂ;ﬂ A i"-l:rf' .

Answer £.3. HOD A

Commentary

(a) is incorrect but the approach in (b) has not used their incorrect expression from (a) so all 4
marks are still possible in (b).

(b) does not use n explicitly but ‘starts again’.

The correct answer is obtained and there is no incorrect working in (b) so all 4 marks are awarded.
(a) 0 marks (b) 4 marks
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Student B

17 (a) Complela tha table.
[1 mark]
Number of
Loln coins
10p n
20p n=2
S0p n+5 J:
17 (b}  Aliogether, there are 60 colns.
Work out the lotal value of the 20p colns.

(a2 /:F.'.'?r.;"gf
e

Commentary

(a) is correct.

(b) leaves the answer as 3.4 and students should use correct money notation. The A mark
therefore is not awarded.

(a) 1 mark (b) 3 marks
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Student C

17 (a) Complele tha table.
[1 mark]
Coln Hu;nﬂb; of
10p "
20p n—2 I
50p Sn | B A0
17 (b)  Altogsther, thers are &0 colns.
Work oul the jolal value of the 20p coins.
=y [4 marks]
SN FA TRy ™Ml
Q.= B,
[0 = 3= )

447Y of
—mﬁ = eSS ":-'.-"'f:
[ *

Answer £ &O ) m J_' 0

Commentary

(a) is incorrect.
(b) uses their incorrect expression from (a). The mark scheme allows this and the first M mark is

awarded. Subsequent method is incorrect.
(a) 0 marks (b) 1 mark
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Question 27

Solve the simultaneous equations

fx+2y=36
3x+2y=16
[3 marks]
Student A _
Soh6 e nkonsous sisions. S
3 7x+2y=36
x? Ax+2y=186
[3 marks]
vt bazBe10%
v

2190 ¥ it = 1\

Commentary
Although there is no incorrect working here, the student has not attempted to eliminate a variable.
0 marks
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Student B
("'_'\
Solve the simultaneous equations 5\ O

Tx+2y=236

ax+2y=16
Z:, = 50 - Fe 22} t46-2=
16-%0 = & ~ F= Lo =200 ®:=5
AC-45:- 1

[3 marks]

Commentary
Student uses Alternative Method 3. Always check the mark scheme for alternative methods.

y= % is an equivalent to y = 0.5 (shown by oe in the mark scheme)

3 marks

Copyright © 2021 AQA and its licensors. All rights reserved. 18 of 23



Question 16

16 (a)  Factorise fully 9y° — 6y

[2 marks]
Answer
Commentary
No examples available
B2 for fully correct factorisation. B1 for incomplete but correct factorisation.
Additional Guidance has quite a lot of extra information.
19 of 23
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Question 12

12 A straight line
has gradient 4
and
passes through the point (5, 23)

Work out the equation of the line.

Give your answer in the form y=mx+c
[3 marks]

Answer
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Student A
12 A straight line
has gradient 4
and
passes through the point (5, 23)

Work out the equation of the line.
Give your answer in the form y=mx+c

[3 marks]
HLe  (ma9) -
B Yo ous 1€
{l:'\} ﬁ!-ﬂipb'-‘bb! mx+5
03
afaam)mf-’h X3
.
%]
Answer Lrx+3

Commentary

Looking at the answer line, only 2 marks are implied. However the fully correct answer appears in
the working and the Additional Guidance (line 2) allows 3 marks to be awarded.

3 marks
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Student B
12 A siraight fine

has gradient 4
and

passes through the point (5, 23}

Work out the equalion of the fins,
Give your answer in the form yEmxte

Nz Bse

R

Oy S iy ST IR, n!

[3 marks}

e

Answer 1 2 =W SIS

Commentary
The penultimate line of Additional Guidance awards M1AOAOQ for an embedded value for c.
1 mark
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Student C

12 A straight line
has gradient 4
and
passes through the point (5, 23)
Wark oul the equation of the line.
Give your answer In the form yEmx+c

Answer ‘:g: Lt 4 1% . gf \.

Commentary

The working does not gain any marks but there is a special case in the mark scheme and the
answer qualifies for SC1

1 mark

Question 17

Please see the mark scheme
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